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I. A. Marx believed change would come from working class with revolutionary intellectuals playing a major role, together in a working class party; role of party to develop strategy, unity—contradictions of capitalism would create possibilities for socialist revolution.

C. Would happen when capitalism could no longer develop, mainly in most industrialized countries—ruling class lost legitimacy, growing working class consciousness-also numbers and potential power; socialism and then communism

D. Believed in increased unity of workers within and between societies--problematic

E. Critical of utopian socialists

   a. Lack of a strategy, class to make revolution

   b. Also of visions—I disagree here

F. Difficulty-revolution to change consciousness, consciousness to change revolution—both change together—dialectically

  

II. First revolution claimed to be Marxist in inspiration and orientation was Russia, USSR

     A. Not developed capitalist society, mainly peasant.—

          Social Democratic Party had opposed WWI, slogan of peace, bread and land took power in 1917—Bolshevik faction of Social Democratic Party seized power with mass uprising by workers, peasants,. They  withdrew from  war, (WWI); newly named USSR had to fight to defend itself—expected revolutions in more industrialized countries didn’t happen—experiments with different forms of economy;  one party state seen as temporary became permanent.

     B. What developed clearly not capitalist—not socialist or communist or even moving in that

            direction

           1. New mode of production—not state capitalist, but a class society

               a. Central planning—decided on output, detailed directions on how to produce goods-

focus on development of forces of production, squeeze countryside, low wages, few  consumer goods, heavy investment, rapid industrialization as goal. Expressed in one and five year plans.

                b. Nationalization not socialization of means of production

                 c. More equal economically—growth in social wage—pensions, full employment

                 d. Not democratic control of surplus—no power of working class

   

           2. Different versions—Cuba best of that model

            3. Stalin worst—vicious repression, mass murder including much of leadership of  Communist Party. Faced threat of Nazi Germany but repression preceded rise of Hitler and fascism in Germany does not excuse behavior. No democracy inside or outside of party---no concern about social relations of production; command economy. 

           4 China –increasingly capitalist with a communist party in control

       C. Communist Party not the same as communism with a small c

 

       D. They and West both claim these are Marxist, socialist or Communist societies

            1. U.S. to discredit

            2. Others to claim mantle—socialism still resonates in much of world although less so  

                than 1960.

 

III. What happened?

       A. Women—policy of USSR: equal pay of r equal work, women in the labor force, socialization of the house work, ending discrimination—conservative in terms of family

        B. Couldn’t keep up with U.S., cold war was huge drain

        c. Marxism as Mantra—dogma, not evolving.

       d. New class society—not laws of accumulation of capital, nor socialist—wage labor

e. Society lost legitimacy, couldn’t compete with West –military spending sapped it.

f. Environmental disaster; focus on economic growth at all costs—little room to oppose this, deal with environmental destruction. Planned society has possibility but not necessity of being sustainable.  

g. Did not tolerate different models—invaded Hungary in 1956, Czechoslovakia in 1968 (hopeful, democracy and socialism); suppressed workers in Poland, 1980; within USSR, some resources went to poorer areas but little respect for diversity. 

f. Degeneration since collapse of USSR—people wanted social democracy, so did Gorbachev; Tried to bring it in from  above; —they got repressive, corrupt capitalism, Yeltsin to Putin.

 

 

III. Is Marxism to blame?

       a. Not in any simple way—maybe only  critiquing bourgeois democracy, need for some individual and civil rights. Lenin who led revolution,  within Marxist tradition, some serious violations,  Stalin I see,  outside of tradition. Democracy is an important goal, importance of civil society not controlled by state, party—autonomous. Marx was certainly a democrat but mainly focused on how capitalism was not democratic.

      . (Context of encirclement, contextualize but not excuse-destruction of left, workers,  focus became increasingly growth of productive forces not relations—countryside, cities, women as producers, environment to be exploited)

 

       b Anti alternative-need to develop alternatives—state, media, etc.

                                                 

    c. . Strength of Marxism is linking all problems to capitalism;  possible weakness is not seeing their autonomy

 

 

 

Introduce movie,  Salt of the Earth

1. Strong Communist Party, Marxism—growth from 1930’s

2. Cold war at home and abroad

3. Orthodox Marxism—racial and gender divisions divide the working class—can get far

4. Amazing movie—most people play themselves-Mine, Mill and Smelter—kicked out of CIO—a close friend of mine , Clint Jencks, is the anglo organizer, Barnes. Clint died almost a year ago, a person who truly practiced solidarity, it was in his DNA 
